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In case of discrepancy between the English and Hindi versions of any question, the Hindi
version will be treated as final.
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Instructions :

(1) All questions are compulsory.

(2) Question Nos. 1 to 5 are 30 objective type questions.

Each question carries 1 (one) mark.

(3) Internal options are given in question nos. 6 to 23.

(4) Marks of each question are indicated against it.

(5) Answer question nos. 6 to 17 in about 30 words each.

(6) Answer question nos. 18 to 20 in about 75 words each.

(7) Answer question nos. 21 to 23 in about 120 words each.

(8) Draw neat and clean labelled diagram wherever required.
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Choose and write the correct option :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

200

KOH + H,S04 — K;S04 + H,0

The above reaction is an example of a

(a) Combination reaction C (b) Double displacement reaction
(¢c) Decomposition reaction (d) Displacement reaction
A solution turns blue litmus to rcd:, its pH is likely to be -
(a) 10 (b) 7

(c) (d) 8

Which of the following is an example of amphoteric oxide?
(a) MgO (b) CaO

() AlO, ' .(d} PbO

The brain is responsible I'Iur -

(a) thinking "'(b) regulating the heart beat

. (¢) balancing the body | (d) all of the above

Which of the following is not a part of the female reproductive system

in human? ' f
(a) Ovary (b) Uterus
(¢) Vas-deferens “1(d) Fallopian tube

The change in focal length of an eye lens by the action of the
(a) Pupil (b) Retina

(¢) Ciliary muscles (d) Iris
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(i) ®¢ forgaras awn qre w@: e ar g 2

(iii) wietra @1 SI "2rEw &H (Q) &
(iv)ﬁm'{&ﬁmaﬁm%mﬁsﬁﬂmﬁmm%u

(v) fate WA ® W@y H A9 qEA HeEn S suar sfas 2 81

(vi) €T TRSEET § A Ee SEel e €

Write True / False :

(i) The maximum concentration of chemicals get accumulated in our bodies

is called "biological magnification".

(ii) A wire with a green insulation is usually the live wire of an electric

circuit.
(iii) The SI unit of resistance is ohm (€ ).
(iv) Myopia is corrected by using convex lens.
= L Li .-u " & -y
(v) The speed of light is higher in a rarer medium than a denser medium.

(vi) Unsaturated hydrocarbon generally gives a clean flame.

200 |/ 102515_A 5 R




A A Ty

()
() s o
(i) Fereiwfa @
(i) fafenft quy
(iv) usfedt oy
(v) wHau

(vi) =3 =1 2%

Match the correct pairs :

(A)
(1) Oxygenated blood
(1i) Deoxygenated blood
(iii) Bisexual flower
(iv) Unisexual flower
(v) Orange

(vi) Ant sting
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(B)
Methanoic Acid
Citric Acid
Veins
Arteries
Papaya

Hibiscus
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For whitewashing which substance solution is used? Write the reaction.

39t / OR |
mﬁﬂ%aﬁaﬂaaﬁmmﬁimﬂmm% fﬁfaau-rzﬁrmﬂw
ST & 7w fofed

Why does the colour of copper sulphate solution change when an iron nail is
dipped in it? Write reason.

9 S Ud & &l 98d &9 HO1? B8 2 faty fafad

How can you identify acids and bases? Write any two methods.
gar / OR

SEHHES sifafwar & afenfya KR us seE fafed

Define neutralisation reaction. Write one example.

Wﬁﬂﬁ'ﬂhﬁﬂ%ﬁﬂﬁ]

Define Calcination.
3ar /| OR
ol @i greamgr fofad)

Define Roasting.

AT & wig & qurEH fafad |
Write any two properties of Ethanol.

- 3@ / OR
TS O & dig & e fefed)

Write any two properties of Ethanoic acid.

50845237
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Write the difference between Autotrophic nutrition and Heterotrophic nutrition.
(Any two) |
aﬂﬁn / OR

T O wfw ® e fafad ) (@ a’s}i'l_'
Write the difference between Blood lallild Lymph. (Any two)

-

o
(i) qfs e )
(i) i Ew
Write a function of each of the ['ollc;;%:*ing animal hormones :
(i) Growth hormone ‘:
(ii) Insulin =+

aﬂﬁﬁ_lf OR

Prefofas e T 3 wed R ¢
(i) it

T3
(i) e
Write a function of each of the foll%ﬁring plant hormones :
(i) Auxin
(i) Gibberellins 5

200

I 102515_A 9 R



12 % 319 oiEt & wore Rl % Faw G fafed ) (@ D) B

Write the name of modes of reproduction used by single cell organism.
(Any two)

sEr / OR

HIH & T AT F e 2 9P F A |

Write the name of any two parts of male reproductive system in human.

™

13 59 ST W A v g8 g A fre awan e 38 a6 &) 2

.‘-' ' -
Find the focal length of a convex mirror whose radius of curvature is
38 cm.

sgar / OR

RoRll 30 1 P 0 +.50 et &, A s o AR

Focal length of a lens is +-.50 metre, write its power.

14 o =t foafemma &2 woor ffed 2
Why do stars twinkle? Write the reasons,

3ar / OR

Wﬁzsﬁﬂﬁm@mﬁﬁmﬁl_ﬁ&amﬁ?mfﬁml

i)
Why a normal eye is not able to see clearly lhe".objects placed closer than
25 cm? Write the reasons. L

..\'i'l
0
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Define the electric current and write its unit.

s / OR
feega fevaia &1 ftonfye 2R/ wa gg@ ‘ﬂ?ﬁﬁ fafaa |
Define electric potential difference and write its unit.
16 ﬂ“ﬂ?ﬁﬁﬁﬂmﬂﬂ%aﬁﬂﬁ%ﬁﬁﬁﬁﬁéﬁiﬁﬁﬂﬁﬁﬂ 2
Write the name of any two methods for ;;n;rinducing magnetic fields.
waq1 /| OR
g & @t & Hs &1 e fafedn
Write any two properties of magnetic field lines.
-
17 = @m afy =9 s O w7 & gt ofel B wra e ¥ (W ) ? 2
|
What will happen if we kill all the orgm:}ié"-m of first trophic level?

it / OR
aﬂ?ﬁﬂaﬂ%qﬁmmﬁﬁﬂaﬁﬁmmuﬁiﬁam%?wﬂl

What is ozone and how does it affect any ecosystem? Write.
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ferftad |
Write the definition of Hydrocarbon. Write first.four members of hydrocarbons
with names, formulas and structural formulas! j
s / OR
Fr=fafiad Dt &1 Tmao Fif
H H
(1 lli H (i? (|3 OH
s RIS
_H H
H
I
(iii) H-C-C=C-H
I
H
Name the following compounds : (")
: H. H
* T H - (l: ([: OH
(1) H-C=0 (i1) _|_4_
H H
H
|
(iif) H-C-C=C-H
|
H
19 #ved 7 99+ WA % fod 72T & N9 & I 39S BT A e fmiE 3
Mendel has selected pea plants for his experiments. Write any three reasons.
s / OR
ﬁmmmmwmmmﬁmﬁma
Write the Mendel's law of dominance with its ray diagram. i
200
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What is the function of an carth wire? Why is it necessary lo earth metallic
electric appliances?

agar / OR

(i) 2 gas a0 (@d vs @ F AR 7 50 &1 B fAfEd ) 2+1=3
qEDBIE G HI Al B AEEG 0 fafad )

(i) A 9raT &1 Iugifan fofad |
(1)  Why two magnetic force lines do not cross each other? Write the reason.
Write unit of magnetic field strength.

(ii) Write the use of fuse wire,

21 fraffan @l @1 Tt e % wy § et B - 3
(i) =g ZEEem | & @am &1 omifar a4m &)
(i) i arg s % @y afufear w1 92fmam sesieans ud meeeE e
= % 4
(i) Afm i werf ow A afufmar w1 Afam @bz vd FEEiTE s
Zdr %1 Pt
(iv) mﬁmmﬁamﬁﬂm‘ﬂ%ﬂmqﬂwmmm%f
Transform the following sluf_:’:_munts into chemical equation :
(i)  Hydrogen gas combines with nitrogen to form ammonia.

(i) Polassium metal reacts with water to give potassium hydroxide and
hydrogen gas. J

(iii) Barium chloride reacts with sulphuric acid to give barium sulphate and
hydrochloric acid.

(iv) lydrogen sulphide gas burns in air to give water and sulphur dioxide.

Sqat / OR
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Fretfefad Tt s o s A -
(i) HNO, + Ca(OH), — Cu(N{I)J)g + H,0
(ii) NaCl + AgNO3 — AgCl "'-NHNOJ
(iii) NaOH + H,804 — Na,S0j + H,O
(iv) BaCl, + H,SO, — BaSO, # HC]
Balance the following chemical 'éc';ualions :
(i) HNOj; + Ca(OH), —» Ca(NO,), + 1-'120
(ii) NaCl + AgNO; — AgCl +;_I:\IaN03
(iii) NaOH + H,50, s NaZSOi12+ H,0
(iv) BaCl, + H,80, — BaSOj+ HCI

i

1N

Y,
TR Y HTEAT U wrfafy forfed |: (sfer)
Describe the structure and Funclliu:_ming of Nephrons. (with diagram)

im

anm / OR

}
mﬁﬁmﬁa#maﬁqﬂ%@qﬁﬂﬁwqﬁmmmmﬁ
BT & 7 163

What are the components of the transport system in plants and how are water
and minerals transported in plants?

200
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(1)  w&H" 97 (F)

|

(1) =@ = 9z (C)

Draw ray diagram in image formation by a concave mirror when the object is
placed in the following position :
(1) At focus (F)

(ii) At center of curvature (C)
auar / OR
(1) Gmﬁﬂﬂﬁm&rﬁﬂﬁqﬁﬂﬁwﬁﬁfﬁﬂﬁt 341
(ii) oraqe g9 &1 Ue sanT ferfad)
(i) Define the refraction with its two laws.

(ii) Write one use of concave mirror,
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